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YEAR 11 MATHEMATICS EXTENSION 1
ASSESSMENT TASK - JUNE 2009

Time Allowed: 70 minutes

Full working should be shown in every question.

Marks may be deducted for careless or badly arranged work.

No liquid paper is to be used.

If a correction is to be made, one line is to be ruled through the incorrect answer.

1.  PQis atangent to the circle below. Find x giving reasons where necessary.

2. Find the acute angle between the lines x -2y +1=0 andx+3y+2=0.

3. Solve 2Tan8-3Cotf =5 for 0° <6 <360°.

4.  PT and QT are tangents to a circle with centre O. Prove £LPTQ = 2LPQ0O

’///\_%\P

Marks

5.  Express 2cosé + 24/3sin@ in the form R cos(&d — ) and hence find the minimum value of

the expression.

7

1+ tan—
6. Prove, using ¢ = ‘cang , that 1+cosect _ 5
2 coté

l—tang
2
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10.

11.

12.

The point P(-2,9) divides the interval AB in the ratio k:1, where A is (7;—3) and B is (1,5).

Find the value of k.

/BAD =« and ZBOD = /ZBCD . Find « giving reasons.
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CosA + Sind  Cosd — Sind

The angle between two lines y = mx and y = -;-x is45°. Find the possible values of m.

=Tan2 4

Solve /2Sin@ — Cos8 =1 for 0° <8 < 360°

AB and CD are two intersecting chords of a circle and CD is parallel to the tangent to the

circle at B.

(a) Draw a neat sketch of the above information.

(b) Prove that AB bisects LCAD .

END OF TEST
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